IKA

ASSEMBLY MANUAL
NESTING TABLE

Gebeso

gebesa.com

Gebeso

gebesa.com

Questions?
Call Toll Free 1-844-2GEBESA or email warranty@gebesa.com



IKA NESTING TABLE

]

HAND BOLT 1/4" FLAT WASHER 1/4" #8 x 1" SCREW

2X 2X 10x

Questions?

Call Toll Free 1-844-2GEBESA

or email warranty@gebesa.com
REQUIRED ASSEMBLY TOOLS NOT INCLUDED

G

SCREW DRIVER DRILL

Gebeso

2 gebesa.com



IKA NESTING TABLE

IKA NESTING TABLE

1X HAND BOLT 1/4"

I X FLAT WASHER 1/4"

Gebe
gebesa.co

Gebes
gebesa.co



IKA NESTING TABLE

10x #8 x 1" SCREW

Gebeso

gebesa.com

IKA NESTING TABLE

I1X HAND BOLT 1/4"
IX FLAT WASHER 1/4"




